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A=QR, AT=(QR) =R"Q"
ATA=R"TQ"TQR=R"(Q"Q)R=R'R
EHRAERATAx=ATb
R'TRx=R"Q"b

THNANTIZVY — E=ATHIRIZER
— T=A1T7 RT (FER
— W75 (RT) 1 A EE
ERAENX

Rx=Q"b
REODXANSIERELS ZEICKUEEKRD S

HBUBEHE - 5% 55 / 72



CRE=7

175 A = QR DHFATH
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MATLAB

THWAD ISV I THDBER

7 1 )b qr_.decompose.m
A=1[2, 1;
1, 2;
0, 0
= qr

]
[Q,R] (A,0);
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MATLAB

>> qr_decompose
>> Q

qQ =
-0.8944  -0.4472
-0.4472 0.8944

>> R

-2.2361 -1.7889
0 1.3416
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MATLAB

>> A
A:
2 1
1
0 0
>> Q*R
ans =

2.0000 1.0000
1.0000 2.0000
0 0
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MATLAB

1T DETER
>> Q*Q°
ans =
1.0000 -0.0000 0
-0.0000 1.0000 0
0 0 0
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A=10, 0, 0;
1, 2, 2;
2, 4,
[Q,R,index]

N -

1;
qr(A,0);
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MATLAB

>>Q
Q:
0
-0.4472
-0.8944
>> R
R =
-4.4721
0
0

0
-0.8944
0.4472

-1.7889
-1.3416
0

-1.0000
-0.0000
0.0000

-2.2361

-0.0000
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MATLAB

>> Q*R
ans =
0 0
2.0000 2.0000
4.0000 1.0000

>> A(:,index)
ans =

S NN O
= N O
—_

0.0000
1.0000
2.0000

index DHRAFICH > THWNADKZINAEWREZ S & QR IC—H
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n = rank(R);
QC:,1:n)*Q(:,1:n)’;

o]
Il

0 0 0
0 1.0000 0.0000
0 0.0000 1.0000
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